oW Wie viel ist es insgesamt?
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Ay Addieren

Aufgabe 1 Aufgabe 2

1. 300+40+6 = 1. 600+20+2 o
2. 400+70+8 = 2. 900+70+6 o
3. 200+80+1 = 3. 400+50+2 =
4. 800+30+5 = 4. 100+70+2 =
5. 900+20+7 = 5 800+50+5 =
6. 900+70+9 = 6. 100+30+6 o
7. 800+70+5 = 7. 500+30+6 o
8. 300+50+7 = 8. 500+40+8 =
9. 300+50+¢9 = 9. 300+20+6 =
10. 600+ 60 + 4 = 10. 600+ 60+5 o
Aufgabe 3 Aufgabe 4

1. 600+70+3 = 1. 100+30+ 4 o
2. 600+40+3 = 2. 400+90+2 =
3. 200+60+6 = 3. 700+30+6 =
4. 300+60+5 = 4. 300+90+ 4 =
5 600+20+3 = 5 400+70+9 o
6. 900+80+5 = 6. 100+70+9 o
7. 500+10+8 = 7. 500+ 60 + 1 =
8. 600+80+1 i 8. 800+40+5 i
9. 800+40+7 = 9. 100+50+7 o
10. 700+ 60 + 2 = 10. 800+80+9 o
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Addieren

Aufgabe 1 Aufgabe 2
1. 300+40+6 = 346 1. 600+20+2 = 622
2. 400+70+8 = 478 2. 900+70+6 = 976
3. 200+80+1 = 281 3. 400+50+2 = 452
4. 800+30+5 = 835 4. 100+ 70+ 2 = 172
5 900+20+7 = 927 5 800+50+5 = 855
6. 900+70+9 = 979 6. 100+30+6 = 136
7. 800+70+5 = 875 7. 500+30+6 = 536
8. 300+50+7 = 357 8. 500+40+8 = 548
9. 300+50+9 = 359 9. 300+20+6 = 326
10. 600+ 60 + 4 = 664 10. 600+ 60+5 = 665
Aufgabe 3 Aufgabe 4
1. 600+70+3 = 673 1. 100+30+ 4 = 134
2. 600+40+3 = 643 2. 400+90+2 = 492
3. 200+60+6 = 266 3. 700+30+6 = 736
4. 300+60+5 = 365 4. 300+90+4 = 394
5. 600+20+3 = 623 5 400+70+9 = 479
6. 900+80+5 = 985 6. 100+70+9 = 179
7. 500+10+38 = 518 7. 500+ 60 + 1 = 561
8. 600+ 80+ 1 = 681 8. 800+40+5 = 845
9. 800+ 40+7 = 847 9. 100+50+7 = 157
10. 700+ 60 + 2 = 762 10. 800+80+9 = 889
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